1.

24
12

-3,0, +3, -1, +5,

8
2,

£ 2 /ol

L0

7(

® &9

@ A= 2 7ol

@) A4 7 Aol

37} oh e,

kel
—

® 0

B

_J
2

AL
T

%

29

@

(=—4),-3,-1 2 3 7HelH.







TR Zoll gk Arolch. £4) 9Fe AL B 12w

15
-5.5, 4, +=, -2, 0, —
5.5, 4, +3, 1 0, -3

@A+ :4,0, =337

@ f84 (6 7H)

@ F fA5 14, +1 (@A)

@ &9 f84 ¢ -5.5, —Z, -3 (37h)

® 2l 1 4 (1 7H)




4. TS F BT 4, - B AES] vl e 22

@251‘3 EA: 49254
@ oRG1ITHE E 5 17

® A 48m : +48m

B

@ 94 30° @ +30°

@ 0 B} 99 9HE 22 4 1 -99

@0HT;17HE F 51 +17
ZA 48 m ¢ —48m




@ -2 ® +1

A4 o] dEd W, 9Ec 4R Fz 2w

~2,-3, 42, 1,43 Olek. webA] Al Aol e S 4 olc,

Wl o




6. =32 AR AA, Fat Hol Yetl= 5 gt &2
opdA-g ZFrota},
AC E B D
-4 -3 -2 -1 0 1 2 38 4
7
(DA:—5 @3:2 ® C:-1.8
@D:+E ® E:0




)
ﬂ.o
2 ~
o
@ &
ot
T
oI S
. A
[
po® <=
<k olp
M Al
SN
)
&_- @ o5 1D|
o N Y
} 5 0
e &
|
N — "3 o e
X RO o
n O N
NI g
< T B
.o
e ©




olJ
XS
ol
o8

—_—

X

dig
Nfo
,m_.o
T

o

—_—

ﬁ
!l
N
or
oF
ol

—

NI
<+

ojn

C D EF G
-15 0 1

B

-4.5 -3

4

2.5

3 7foltt.
A2 3 7foltt.

L z O
LS =

5t

He

9]

@ Fel A=l

HelA 718 77k A2 A D ol

o

®
@) A o 4 B Aol

1he] §2 47t Slek,

LSS
1

‘ @ A A £+ A B Aol




®)4

@ 2.7

@5

@ 3.5

®0

@ 2.7

® 4




10. 9= F 7M1 2+

6 10
® '—3 ® ’3

@ -2 g aag  ©)sd AR

B

6| 6
—|l===12
®|-3|=3
101 10
—|=>"=333---
®‘3 3
®0

@ -2 o RS § =250l

® 59] dHZE2 50|t}
wreha 7Ht 2 = 5]t




